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® Use black ink or ball-point pen.
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centre number and candidate number.

® There are three sections you must answer:
— Section A Questions 1-4
— Section B Question 5 and either Question 6(a) or 6(b) or 6(c)
— Section C Question 7.

® Answer the questions in the spaces provided
— there may be more space than you need.

® You must not use a dictionary.
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® The total mark for this paper is 100.
® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

® Read each question carefully before you start to answer it.
® Check your answers if you have time at the end.
® Good luck with your examination.
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SECTION A: READING

Answer ALL questions.
Write your answers in the spaces provided.

Multiple-choice questions must be answered with a cross in a box X.. If you change your
mind about an answer, put a line through the box 2¢ and then mark your new answer with
a cross X/, Open-response questions do not have to be written in full sentences and you may
respond using single words or phrases.
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(Total for Question 1 = 6 marks)
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(Total for Question 2 = 8 marks)
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. DONOTWRITEINTHISAREA ~ DONOTWRITEINTHISAREA

2 DONOTWRITE INTHIS AREA
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(Total for Question 3 = 12 marks)

7

P61 96 3 A0 7 2 0 Turnover »



4 (a) 00 e SFTe SFCS TOIFIF FT FIHIRTT AT |

Q3@ YT IS IFITT 20O (ALET I | (U@ B (TF 2T AT ©y (oifes <7 =775
ST RBCS U LIV YOF (TG €51 4919 T | FFSIRAET FCoTd ANCT 2 GFT (&I
*G B SN ZO0T CF AP AIE, “ 92 (Q0E, ST I Qo (@2 e 2
Iy ©fF W SIS Fe gfeoT 2oty € Mot sy @361 (=R 2es | fsfq @,

“ (ST I (SIFGT? 9 6 =1 @ifere sAeare” wfy <@y, “&yr onfd, @ =g

T JETCET, “ 9T F0ET AR G B SFIF F T | (ST TN (RN A2
ST | 3002 20T SIS FICS AT | ST I S (AT 2ot Si<sla 779 s 3 | gfew
P G BT PN SMTST SR QTS IR, “Frol a2 @R JeTcee, “BIprozsi
PICT A1 | Sf WY =7 Sice «rerg (¥ =6dT 1”7 e TE5RF =0 WIf J@eI, “2f
AT |7

oy qertere, “sizwe AT i Fore Wee et | Y O T | F0eT (Teres SqeEs
IMACF AMF FC PN B APE FIex | o 7717 “fifoe Fho-15r Afasm el |

W FE AN B ST | FEFG! RS (AT | FH-FI6R SNE ST SO B
QAT R | AN QI =TT S 28T, ST 8 NF | GISTE! AT 2OV HIH F
o2 (FeTeT SN GRS 22N % | fadia® 2 i WWSIZEa S0z (16T (9196 T |
MATSIZ #I(FF A2 RIAE ROI6T | (CTe SF ZGI5T 9 QA SNe SIS ROCALF 200
AT I |

FHBTe @91 ©qT AR ©f AT I N LEGTEF S WIS | (SN T&d
e QT TR TS (72 |

(i) CT4F BV (AT (&FF (TGIET? Gio FIae @0 |

P 6 1 9 6 3 A0 8 2 0

YISV SIHENEILIEM TON O VIdY SIHLNIEILIIM LONOG

YISV SIHLENEILIIM 1ON-OC



(iv) O (T TIF FOI OIF N AT AT FACE?
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(Total for Question 4 = 14 marks)
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NOT

SECTION B: WRITING
Answer Question 5 and either Question 6(a) or 6(b) or 6(c).

Write your answers in the spaces provided.
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(Total for Question 5 = 14 marks)
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Indicate which question you are answering by marking a cross X . If you change your mind,
put a line through the box $¢ and then indicate your new question with a cross X .

] Question 6(a) ] Question 6(b) [] Question 6(c)
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(Total for Question 6 = 26 marks)

TOTAL FOR SECTION B = 40 MARKS
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SECTION C: TRANSLATION INTO BANGLA

Write your answer in the space provided.

7 o7 @raifs ey Sgm ST

Bangladesh has made remarkable progress in reducing poverty, supported by sustained
economic growth. It has reduced poverty by thirty three percent in the last two years.
Rapid growth enabled Bangladesh to reach the lower middle-income country status in
2015.

The economic growth has rapidly increased the demand for energy, transport and
urbanisation. Bangladesh still faces challenges with millions of people living below the
poverty line. So, with the right policies and timely action, the country can move up
within the middle-income bracket.
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(Total for Question 7 = 20 marks)
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Source information S

Question 2
Image no. 92677258 - © shekhardino/Getty Images ;_
Image no. 486733950 - © Creativalmages/Getty Images ,
Image no. 1025675134 - © Deepak Sethi/Getty Images 5
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